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= = T AN 7 = AN T = = TR AN = = AN = =
e = % Z’S 'Fimb(ﬁ)o)ﬁﬁﬁﬁ n(mtf)é = 5 'Fin-né%'zg)?kili .a,n? n(mtf)é = % Z’S J:iﬁb(ﬁ)d)l:t.s; n(mtf)é = 2 J:imb(z)o)tt.sl .a,n? ﬁ(mtnié
;| oo/ mizzs 1 -~ - lamzrz3| - ~ - . -| 100kN/ %% - -~ . |lam%ziEz3 -~ - - -
ZhLLst 100000 ~ 167 5819 =hust | 000 ~ 467|184 9.86 ZhLst 100|500 ~ 500| 5819| zhust [500 ~ 500 1.84 9.86
, |00/ mizEzS 1 -~ - lamzrza| - ~ - . -| 100kN/ %% - -~ . lam%ziE23 -~ - - -
ZhLLst 1.00 | 000 ~ 1914|6156 #hus |ooo ~ 194|219 1175 ZhLst 100|500 ~ 746| 6156 | Tnus |500 ~ 746|219 1175
5 | 10oav/mizEzs 1 -~ - lamzrza| - ~ - . -| 100kN/ %% - -~ . lam%ziE23 -~ - - -
Zzh s 1.00) 000 ~ 495 61.73 | TN | 000 ~ 495|219 11.74 Zzh s 1.00 | 5.00 ~ 747 61.73 | TN | 500 ~ 747|219 11.74
L | 100v/miERAS 1 -~ - lamzrz3| - ~ - . -| 100kN/ %% - -~ . |lam%ziEz3 -~ - - -
Zzh s 1.00 000 ~ 653 8228 | #hs | 000 ~ 653|179 9.59 Zzh s 1.00|56.00 ~ 780 8228 | #hus | 5.00 ~ 780 1.79 9.59
5 | 100av/miE@A3 1 -~ - lamzrza| -~ - . -| 100kN/ %82 - -~ . lam%ziEz3 -~ - - -
ZhLLst 1.00 | 000 ~ 1249| 5597 #huust |ooo ~ 149|218 1165 ZhLst 100|500 ~ 645| 5597| znust 500 ~ 645|218 1165
5 | 100v/miERAS 1 -~ - lamzrza| - ~ - . -| 100kN/ %82 - -~ . lam%ziE23 -~ - - -
ZhLLst A1 -~ - | #hus -~ - - I - -~ - -| zhust -~
, |00/ miEEz S 1 -~ - lamzrza| - ~ - . -| 100kN/ %82 - -~ . lam%ziE23 -~
ZhLLst A1 -~ - | #hus -~ - - I - -~ - -| zhust -~
g | 100av/miE@AS 1 -~ - lamzrz3| - ~ - . -| 100kN/ %% - -~ . |lam%ziEz3 -~
ZhLLst A1 -~ - | #hus -~ - - I - -~ - -| zhust -~
o | 10oav/mizEzs 1 -~ - lamzrza| - ~ - . -| 100kN/ %82 - -~ . |lam%ziEz3 -~
ZhLLst A1 -~ - | #hus -~ - - I - -~ - -| zhust -~
10 | 100K/ miERZ S 1 -~ - lamzrz3| -~ - . -| 100kN/ %82 - -~ . |lam%ziEz3 -~
Zzh s 1.00 1000 ~ 300 38.63 | Ths | 000 ~ 300|245 1311 Zhust 1.00 | 5.00 ~ 6.00 38.63 | TN | 500 ~ 6.00)|2.45 1311
L | 1o/ miERR S 1 -~ - lamzrza| - ~ - . -| 100kN/ %82 - -~ . |lam%ziEz3 -~ - - -
zhs 1001000 ~ 474 59.09 | =hst | 000 ~ 000| 1.66 891 zhs 1.00 | 5.00 ~ 5.00 59.09 | =hs | 5.00 ~ 500 1.66 891
o | 100K/ MiERZS 1 -~ - lamzrz3| -~ - . -| 100kN/ %82 - -~ . |lam%ziEz3 -~ - - -
ZhLLst 100000 ~ 1277|5950 | #hust | 000 ~ 477|174 9.29 ZhLLst 100|500 ~ 500| 5950 Thus [500 ~ 500 1.74 9.29
g | 100K/ MiERZS 1 -~ - lamzrz3| -~ - . -| 100kN/ %82 - -~ . |lam%ziEz3 -~ - - -
ZhLLst 100000 ~ 636| 7998 #hus |ooo ~ 636|272 1455 ZhLLst 100|500 ~ 1089 7998 | Tnus | 500 ~ ws9|272| 1455
4 | 100N/ MBS 1 -~ - lamzrz3| -~ - . -| 100kN/ %82 - -~ . lam%ziEz3 -~ - - -
ZhLLst 100000 ~ 675 8530 #hust |ooo ~ 675|257 1377 ZhLLst 100|500 ~ 1023 8530| #nus | 500 ~ 123|257 1377
15 | 100/ iERAS 1 -~ - lamzrza| -~ - . -| 100kN/ %% - -~ . lsm%ziEz3 -~ - - -
Zzh s 1.00 000 ~ 6.44 8110 L4 | 000 ~ 644 | 1.98 10.61 zh s 1.00156.00 ~ 852 8110 ThUs | 5.00 ~ 852 | 1.98 10.61
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= = YA 7 =N T = = TE AN = =N = [ =
&= X 4 .(Er,na; 'Fimb(z)o)ﬁﬁﬁﬁ jj(&itn:é'f)é E 4 Timé%zg;kili .(sr.na)k jj(&itn:é'f)é X 4 ,(Er,na; J:ﬁwb(z)@l:l:.s; jj(&itn:é'f)é E 4 J:jﬂ—ﬂb(ﬁ)a)ttlil .(sr.na)k 73(&3%‘?)3
16 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
Zh s 100|000 ~ 564 70.41 | ThUst | 000 ~ 0.00| 1.68 897 Zhust 100|500 ~ 630 70.41 | ThUs | 500 ~ 6.30 | 1.68 897
17 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
ThLlst 100|000 ~ 518 64.53 | Thst | 000 ~ 518) 293 15.68 ThLlst 100|500 ~ 1043 64.53 | ThLS | 5,00 ~ 1043] 2.93 15.68
18 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
Zh s 100|000 ~ 652 8220 | #nist | 000 ~ 652|269 14.41 Zhst 100|500 ~ 1100 82.20 | ThUs | 500 ~ 11.00| 2.69 14.41
19 100kN/m%E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
Zh s 100|000 ~ 432 53.92 | #npst | 000 ~ 132|216 11.54 Zhust 100|500 ~ 6.00 53.92 | #hust | 500 ~ 6.00) 216 11.54
2 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
zh sk 1.00 | 0.00 ~ 6.01 75.26 | TS | 000 ~ 6.01)| 1.94 10.36 zh sk 1.00 | 5.00 ~ 7.39 75.26 | TS | 5.00 ~ 7.39 | 1.94 10.36
21 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
Zh s 100|000 ~ 598 74.85 | TS | 000 ~ 598 | 1.94 10.36 Zhst 100|500 ~ 734 74.85 | TS | 500 ~ 7.34 | 1.94 10.36
22 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
Zh s 100000 ~ 497 61.92 | #hdst | 000 ~ 197|217 11.61 Zhst 100|500 ~ 728 61.92 | ThUst | 500 ~ 728|217 11.61
23 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
zh sk 1.00 | 0.00 ~ 495 61.69 | ThUSN | 000 ~ 495|217 11.59 zh st 1.00 | 5.00 ~ 721 61.69 | =hs 500 ~ 721|217 11.59
24 100kN/m#E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
zh sk 1.00 | 0.00 ~ 592 74.11 | Thls | 000 ~ 592) 201 10.76 zh st 1.00 | 5.00 ~ 771 74.11 | =hs | 5.00 ~ 771|201 10.76
25 100kN/m%E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
Zh s 1.00)| 000 ~ 305 39.23 | #hust | 000 ~ 3205|239 12.80 Zhst 100|500 ~ 560 39.23 | #hiust | 500 ~ 560 | 2.39 12.80
2% 100kN/m#E#BZ % - -~ - -[3mEEZB| 000 ~ 000 300 16.08 | 100kN/m%#BZ % - -~ - -|3mE#BZB| 1000 ~ 1123| 3.00 16.08
Zh s 100|000 ~ 507 63.18 | Thst | 000 ~ 507|300 16.05 Zh s 100|500 ~ 1123 63.18 | TS | 500 ~ 10.00| 3.00 16.05
27 100kN/m%E#BZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mZEEZ S -~ - - -
zh sk 1.00 | 0.00 ~ 434 54.19 | =hds | 000 ~ 434| 1.98 10.567 zh st 1.00 | 5.00 ~ 5.00 54.19 | =S | 5,00 ~ 5.00)| 1.98 10.567
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m%E#B % % ~ 3ImEHEZD ~
zh sk ~ Zzh st ~ zh sk ~ Zh s ~
100kN/m#E#B 2 % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
zh sk ~ Zzh st ~ zh sk ~ Zh s ~
100kN/m#E#B 2 % ~ 3ImzHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
Zh st ~ Zhs ~ Zhst ~ Zhs ~
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